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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1) narjmWu gd©àW_ AnZo àíZ nÌ na Zm_m§H$ A{Zdm`©V… {bI| &
Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) g^r àíZ H$aZo A{Zdm`© h¢ &
All the questions are compulsory.

3) àË`oH$ àíZ H$m CÎma Xr JB© CÎma-nwpñVH$m _| hr {bI| &
Write the answer to each question in the given answer-book only.

4) {OZ àíZmo§ _| AmÝV[aH$ IÊS> h¡§, CZ g^r Ho$ CÎma EH$ gmW hr {bI|&
For questions having more than one part the answers to those parts are to be
written together in continuity.
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1274SS–42–Bio.

5) àíZ nÌ Ho$ {hÝXr d A§J«oOr ê$nmÝVa _o| {H$gr àH$ma H$s Ìw{Q> / AÝVa / {damoYm^mg hmoZo na {hÝXr
^mfm Ho$ àíZ H$mo hr ghr _mZ|&

If there is any error / difference / contradiction in Hindi & English versions of
the question paper, the question of Hindi version should be treated valid.

6) IÊS> àíZ g§»`m A§H$ àË`oH$ àíZ

A 1 - 13 1

~ 14 - 24 2

g 25 - 27 3

X 28 - 30 4

Section Q. Nos. Marks per question

A 1 - 13 1

B 14 - 24 2

C 25 - 27 3

D 28 - 30 4

7) àíZ g§»`m 24, 27, 28, 29 Am¡a 30 _| AmÝV[aH$ {dH$ën h¢&

Question Nos. 24, 27, 28, 29 and 30 have internal choices.
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IÊS> - A

SECTION - A

1) ~hþ^w«UVm H$s n[a^mfm ~VmB¶o& [1]

Define Polyembryony.

2) A§S>OZZ {H$go H$hVo h¢? [1]

What is Oogenesis?

3) EH$b g§H$a g§H$aU H$s n[a^mfm ~VmB¶o& [1]

Define monohybrid cross.

4) qbJ {ZY[aU H$s à{H«$¶m {Og‘| Za Xmo àH$ma Ho$ ¶w½¶H$ n¡Xm H$aVo h¡ H$hbmVr h¡& [1]

Method of Sex determination in which male produce two types of gametes is
called.

5) AZwHy$br {d{H$aU H$m EH$ CXmhaU Xr{O¶o& [1]

Give one example of adaptive radiation.

6) D$VH$ g§dY©Z Ûmam hOmam| H$s g§»¶m ‘| nmXnm| H$m CËnÞ H$aZo H$s {d{Y ³¶m H$hbmVr h¡? [1]

Method of producing thousands of plants through tissue culture is called.

[ Turn Over
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7) H$db H$m Zm‘ {b{I¶o {OgH$m Cn¶moJ nmXn amoJm| Ho$ CnMma ‘| {H$¶m OmVm h¡& [1]

Name the fungus which is used in the treatment of plant disease.

8) gm‘mÝ¶V: ~«rdg© ¶rñQ> {H$go H$hVo h¡? [1]

Which is commonly called brewer's yeast?

9) {H$go ""AmU{dH$ H¢$Mr'' ^r H$hm OmVm h¡? [1]

Which is also called as 'molecular scissors'?

10) AmZwd§{eH$V: ê$nm§V[aV Ord (GMO) H$s n[a^mfm Xr{O¶o& [1]

Define Genetically Modified Organisms (GMO).

11) AmZwd§{eH$ amoJm| Ho$ CnMma H$s {d{Y H$m Zm‘ {b{I¶o& [1]

Name the method which is used to cure hereditary disease.

12) ~r.Amo.S>r. H$m nyam Zm‘ {b{I¶o& [1]

Write the full form of BOD.

13) O¡d AmdY©Z H$s n[a^mfm Xr{O¶o& [1]

Define Biomagnification.
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IÊS - ~

SECTION - B

14) b¢{JH$ OZZ, OZZ H$s AÀN>r{d{Y h¡, Xmo H$maU XoH$a g‘PmB¶o& [1+1=2]

AWdm

n¡Zr{g{b¶‘ d ³b¡{‘S>mo‘moZmg H$s Ab¢{JH$ OZZ g§aMZmAm| Ho$ Zm‘ ~VmB¶o&

Sexual reproduction is best method of reproduction. Explain with two reasons.

OR

Give the name of asexual reproductive structures of penicillium and
chlamydomonas.

15) Anam Ho$ Xmo H$m¶© g‘PmB¶o& [1+1=2]

Explain two functions of placenta.

16) {H$Ýhr Xmo ghm¶H$ OZZ àm¡Úmo{J{H$¶m| H$mo g‘PmB¶o& [1+1=2]

Explain any two assisted reproductive technologies.

[ Turn Over
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17) hmS>u-doZdJ© gmå¶Vm H$mo à^m{dV H$aZo dmbo {H$Ýhr Mma KQ>H$mo Ho$ Zm‘ {b{I¶o& [4×½=2]

Write the name of any four factors which affect the Hardy Weinberg equilibrium.

18) newàOZZ Ho$ CÔoí¶ ~VmB¶o& g§H$aU H$mo g‘PmB¶o& [1+1=2]

Mention the aims of animal breeding. Explain cross-breeding.

19) Kaoby CËnmXm| ‘| gyú‘Ordm| Ho$ Xmo Cn¶moJ ~VmB¶o& [1+1=2]

Mention the two uses of microbes in household products.

20) ~¡grbg WwarZ{OE§{gg Ûmam CËnÞ Ord{df ~¡grbg WwarZ{OE§{gg H$mo ³¶m| Zhr ‘maVm h¡ H$maU
~VmB¶o& [2]

Why does toxin produced by Bacillus thuringiensis does not kill the Bacillus
thuringiensis itself give reason.

21) AOr{d¶ H$maH$m| Ho$ à{V hmoZo dmbr AZw{H«$¶mAm| H$mo Mma CXmhaU XoH$a g‘PmB¶o& [4×½=2]

Explain responses to abiotic factors by giving four example.
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22) H$maU ñnï> H$s{O¶o [1+1=2]

A) Y«wdr¶ g‘wÐm| Ho$ Obr¶ ñVZYmar O¡go

grb ‘| ËdMm Ho$ ZrMo dgm H$s ‘moQ>r naV H$m nm¶m OmZm&

~) ‘ê$ñWbr¶ nm¡Ym| H$s n{Îm¶m| H$s gVh na ‘moQ>r

CnËdMm Am¡a a§Y«m| H$m Jhao JV© ‘| ì¶dpñWV hmoZm&

Give reason:

A) Aquatic mammals of polar sea like seals have a thick layer of fat below the
skin.

B) Desert plants have a thick cuticle on their leaf surfaces and have their stomata
arranged in deep pits.

23) Xmoham H$m¶© H$aZo dmbo AmZwd§{eH$ Hy$Q> H$mo {bIVo hþE CgHo$ Xmo H$m¶© ^r ~VmB¶o& [1+1=2]

Write the genetic code which has dual function and also write its two functions.

24) h‘| O¡d {d{dYVm H$mo ³¶m| g§a{jV H$aZm Mm{hE {H$Ýhr Xmo H$maUm| go g‘PmB¶o& [1+1=2]

Why should we conserve biodiversity explain by giving two reasons.

[ Turn Over

Downloaded from www.cclchapter.com



8

1274SS–42–Bio.

IÊS> - g

SECTION - C

25) ^«wUnmof H$m {Z‘m©U {H$g H$mo{eH$m Ûmam hmoVm h¡? J¡aEë~w{‘{Z¶g d Eë~w{‘{Z¶g ~rOmo Ho$ ~ZZo Ho$
H$maU H$mo ñnï> H$aVo hþE àË¶oH$ Ho$ CXmhaU Xr{O¶o& [1+1+1=3]

AWdm

Jwê$~rOmUwOZZ {H$go H$hVo h¡? Amd¥Îm~rOr ‘| EH$ àmê${nH$ ~rOmÊS> H$s g§aMZm H$m dU©Z H$s{OE& 
[1+2=3]

Which cell develops into the endosperm. Why seed develop into non-albuminous
and albuminous explain with suitable examples of each.

OR

What is megasporogenesis? Describe the structure of typical angiosperm ovule.

26) ñdV§Ì Anì¶yhZ H$m {Z¶‘ {b{I¶o& nZoQ> dJ© ~ZmVo hþE Jmob nrbo d PwauXma hao ~rOm| H$s d§emJ{V H$mo
Xem©B¶o& [1+2=3]

Write law of Independent Assortment. Show the inheritance of round yellow and
wrinkled green seeds using a punnett square.

27) nwZ¶m}JO S>r EZ E H$mo n[a^m{fV H$s{O¶o& DNA I§S> Ho$ n¥W³H$aU Ed§ {dbJZ H$s Oob Bbo³Q´>mo’$moao{gg
{d{Y H$mo g‘PmB¶o& [1+2=3]

Define recombinant DNA. Explain gel electrophoresis method of separation and
isolation of DNA fragments.

Downloaded from www.cclchapter.com



9

1274SS–42–Bio. [ Turn Over

IÊS> - X

SECTION - D

28) A) AmZwd§{eH$ nXmW© Ho$ Xmo ‘mnX§S> {b{IE&

~) Ooåg dmQ²>gZ d ’$m°pÝgg H«$sH$ Ho$ DNA {ÛHw§$S>br ‘m°S>b H$mo g§{já ‘| g‘PmB¶o&

g ) {Ûa‚mwH$s¶ nm°brÝ¶wp³b¶moQ>mBS> l¥§Ibm H$m {MÌ ~ZmB¶o&

[1+2+1=4]

AWdm

A) S>rEZE d AmaEZE ‘| H$moB© Xmo A§Va {b{I¶o&

~) DNA Hw§$S>br H$m n¡Ho$qOJ g§{já ‘| g‘PmB¶o&

g ) Ý¶y{³b¶mogmo‘ H$m {MÌ ~ZmB¶o&

a) Write two criteria of genetic material.

b) Explain in brief the DNA double Helix model of James Watson and Francis
Crick.

c) Draw a diagram of double stranded polynucleotide chain.

OR

a) Write any two differences between DNA and RNA.

b) Explain packaging of DNA helix in brief.

c) Draw the diagram of Nucleosome.
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29) A) à{Vajm {H$go H$hVo h¢?

~) ghO à{Vajm Ho$ H$moB© Xmo amoYm| H$mo g‘PmB¶o&

g ) EH$ à{Vajr AUw H$s g§aMZm H$m {MÌ ~ZmB¶o&

[1+2+1=4]

AWdm

A) ‘bo[a¶m amoJ Ho$ amoJOZH$ H$m Zm‘ {b{I¶o&

~) ‘bo[a¶m naOrdr Ho$ OrdZMH«$ H$mo g§{já ‘| g‘PmB¶o&

g ) ‘bo[a¶m naOrdr Ho$ OrdZMH«$ H$m Zm‘m§{H$V {MÌ ~ZmB¶o&

a) What is Immunity?

b) Explain two barriers of Innate Immunity.

c) Draw the structure of an antibody molecule.

OR

a) Write the name of pathogen which causes malaria

b) Explain the life cycle of malarial parasite in brief.

c) Draw a labelled diagram of life cycle of the malarial parasite.
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30) A) nmofH$MH«$ {H$go H$hVo h¡?

~) nm[aV§Ì ‘| ’$m°ñ’$moag MH«$ H$m dU©Z H$s{O¶o&

g ) EH$ ñWbr¶ nm[apñW{VH$ V§Ì ‘| ’$m°ñ’$moag MH«$ Ho$ gabrH¥$V ‘m°S>b H$m {MÌ ~ZmB¶o&

[1+2+1=4]

AWdm

A) nm[aV§Ì H$mo n[a^m{fV H$s{O¶o&

~) nm[apñW{VH$ {na¡{‘S> H$mo g‘PmB¶o&

g ) D$Om© Ho$ EH$ AmXe© {na¡{‘S> H$m {MÌ ~ZmB¶o&

a) What is Nutrient cycling?

b) Describe phosphorus cycle in ecosystem.

c) Draw a diagram to show the simplified model of phosphorus cycle in a terrestrial
ecosystem.

OR

a) Define ecosystem.

b) Explain ecological pyramids.

c) Draw a diagram of an ideal pyramid of energy.


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